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Answer the following questions : 1x10=-‘10
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\)/Wnte down the name of device, which is used to detect chalge
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)X Write down the dimension of electric flux.
e prv W fal |
Jiy” Write down one limitation of Ohm's law.
7 Hed <51 ARl |
) Whatis Lorentz force?
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/v)/\‘v'hm is Meissner Effect?
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»A)/ ‘Giveone application.of Microwave.
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7([)/ State Huygen's Principlc.
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viil) The sparkle of a diamond can be explained by which phenom

enonof light?
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What is Threshold Frequency ?
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X) In - Prticle Seattering, name the target nucleus.
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2. Answerthe following questions :
w1 fitn bz B il & |
Vi,)/ Write down the Coulomb's law in vector form,
T OB (6F el ferall |
\9/ A 900 PF capacitor is charged by
clectro static energy is stored ?
900 PF 1< 51 GBIl 100 V 071 if2
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L/ﬂﬁ Establish the relation pr = 1 +7 , where symbol have used
meaning .
ur=1+ W@@WWI’JEWWW@Qf
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y Write down the conditionof (a)stable (b) unstable equillibrium
of amagnetic dipole in a uniform megnetic field.
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/57 How can you deviate aray of light through (a) 90° (b) 180°
by using a Prism. Draw ray diagram.
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Draw ray diagram of Reflecting (Cassegrain) Telescope.
 ¢foTers Cassegrain Telescope B IR bg i |
iy Write down two limtiation of Bohr's atomic model.
T ~faee S ! ! fora |
viil) Draw the circuit diagram of P-n- Junction diode in
P-n SILeH TRIGH (I SoTo A T6+1 o S |
(a) Forward bias / eS| e
(b) Reverse bias/ RN Rt
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100V battery. How much
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Show by using Gauss law that Electric field due to uniformly

o
charged infinite plane sheet is E = 2 Eo n
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Show that the Potential energy of an electric dipole inan external

Electric field is U—-P ok
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Define Drift Velocity. Deduce the expressmn of Drift Velocity
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Find out the current in each branch of the given circuit.
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What is the radius of the Path of an electron (man 9 x 103! kg)
(Charged 1.6 x 10" ¢) moving at a speed of 310’ m/s in a
magentic field of 6x10*T perpendicular to it? What is the
frequency ? Calculate the energy in KeV.
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/)/ A solenoid of length 0.5 m has a radius of 1 cm. and it is made
of 500 turns. It carries a current of 5A. What is the magnitude
of megnetic field Inside it.
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Write down Max Well's equations in Vacuum for e.m Wave.
R T ARSI (T el (P21 ey g fordl |

iy FortwowavesY, =a SinwtandY,=a, Sin(wt+ ¢), find the
condition of constructive and destructive interference of wave.
75! (IR G391 Y, = 2, Sin wt W% Y, =a, Sin(wt +¢) 391,
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viii) Calculate the Binding Energy per nucleon of ;0.
Given mass of protonm_ =1.00727u
mass of nutronm_=1.00727866 u

mass of 80"’ m = 15.99493 u
iu=931 Mev.
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IX) G’i/atc [ enz's Law and show that it agees to the principle of
/ conservation of Energy.
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4.  Anobijectis placed at 10 cminfront of a concave mirror of radius

5.

of curveture 15 cm. Find out the position of the image. 2
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(1 /Describe the Principle, Construction and Working of amoving
coil galvanometer. How can you converta galvanometer into
(a) Ameter (b) Volt meter. 3+1+1=5
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AnA.C. voltage V =V_Sinwt is applicd across a series
L -C-R Circuit, By using Phasor diagram solution find out
impedence (Z) and also find out Resonance Frequency.
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Show that refraction through a spherical surface, the relation
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between U,V and R with refractive index is -—Vl Al=_2 b
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Deduce Lens Maker's for muc for a thick Lnes as
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7fﬁ How can you use P-n Junction diode as a full wave rectifier.

Explain with neat diagram. 5
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